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Q. 2) A six-digit number is divisible by 33. If 54
2 — Lut c&g,-( —2 is added to the number, then the new number
. formed will also be divisible by:
> > 2yt i B 3P| B TS HE 33 A Ry 21 af d=n
h = Lat2dd ¥ 54 wis R wmg, @ Pffa 7§ wem o
8 & Lt iyt J fRrursa g
1, —> LsuY L‘lw}‘t /—\’_\, 5y
< — S / D () 2} / |
J (€)5
9 — D‘]\\’g‘“’\ @ 7§: o q
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Q. 3) Simplify the expression. / T9® & X

7 2
Q—b:(a+b)<q,é) |
0( bLI '7\'(0. +bz') (q_ 5?—) 3@ 1?59

3.35+1.25
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(= 3s+\s[j (3-35-tas)
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(). 4) During a division, Pranjal mistakenly took as the
- J dividend a number that was 10% more than the original
o/ dividend. He also mistakenly took as the divisor a

ST @qx number that was 25% more than the original divisor. If

the correct quotient of the original division problem was
25 and the remainder was 0, what was the quotient that
Pranjal obtained, assuming his calculations had no error?

Tl o] e e e e
d UIo® & ©U H Th SE&I ol gd UeP 9 25%

o ftre 8t1 afe Wi & ga wa ST Hel WRTHd 25 4T R Ry
— 0 YT, 9 U8 WFd U & IuS! T H Hig I T8I B,
wivte A feaar yrTee ure feamn
(a) 21.75
(b) 21.25
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P Q. 5) If the selling price of an article is

doubled, then the profit becomes four times.

2
X X =
What was the original profit percentage?

gfe frsft avg =1 faa wea ST o= fRar s,
XYt IR T @ ST B e A i

) ==y W cp  SP ﬂ
\,\1_\13 - Xy (a) 75% | a <r \00/

«_ 2 (b)100%
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Q. 6) A dealer marks his goods at 20% above
the cost price and allows a discount of 15% on
the marked price. What is his gain or loss

percentage?

UP SR U4 AT R H9 I F 20% s
3ifpd ®ar g 3R Sifpd goa W 15% #I [e
a1 8| IUPT ATH 71 81 ufa=ra & 82

(a) 4% gain (b) 2% loss

@ 4% oss
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Q. 7) Money was lent on simple interest. After
12 years, its simple interest becomes 3/5 of
the money. Find the rate of interest.

ATYRY ST W) 9T IUR faan simar uni 12 ad
91 SUPT IYRY TS Y= &1 3/5 § 1T 2|
TS &3 T Biferd |

(a) 4% p.a. T = \&0
(b) 2% p.a. ST= = ¢
p s

d) 3% p.a.

(d) 3% p.a R:?
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Q. 8) 20 students of a college went to a hotel.
19 of them spent Rs. 175 each on their meal
and the 20th student spent Rs.19 more than
the average of all the 20. Find the total money
spent by them.

P & 20 faegrdf ve glea & o) IFH A
19 # ¥ Ud® A U HieH U7 175 T @A {HU
MR 20d A A At 200 F A A 19 %
3fere @d fPT| I gRT @ B T3 A AR
I B

(a) Rs. 3,490 C
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Q\a Q. 9) What is the value of— .f‘: :: 173
S N
g e oy = 75 8, @ 9T A 9

(a) 23/7
12— (.,58 ‘[x+’ssd (b) 24/9

6= 108

(d) 100/7

X, -0
J Uk
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3Em+ by = 2&m4 4y MeNn and 24 women, working together, can do
T the same job in 64 days. In how many days can

CY I L the same job be done by 18 men and 24
’ king t ther?
E | et
e Dobdog gt bR e oL
s 12 24

Mm*;m)x%:(f%m+§fwamm§;§ﬁwaﬂ§4m Y IPd

\f? g1 18 T3 3R 24 Hfgemy &1

SRAS6 o 6 ?ﬂngﬁm&aﬂﬁmﬁ d 1 BT gHa
%)

p (a) 47— < (b) 47> _ &
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Q. 11) A can do 20% of a job in 7 days and B
can do 25% of the job in 7 days if they worked
alone. How much of the job (in percentage)
can they complete in 7 days if they worked
together?

A, 7fRAH20% o1d ST TFar g 3 B, 7 e A
25% PHTd BT GPHdl ¢, dfe T APd o1 Hd 2|
giedve Ay s FA &, at 7 R & 3 fba=m

&1d (wfa=rd #) R &R IFd 82
(a) 38% (b) 52%

@ 56%
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Q. 12) A can complete a work in 18 days, while

B can complete it in 12 days. B worked on it

3-8 — | . ;
- <7 for 4 days. How long will A take to finish the

remaining work? A T& &4 &1 18 fga1 & @1

T Ry wear €, wafe B 3@ 12 R § w1 W
9&dl 81 B A 39 W 4 f3A1 9@ &rd fean 2w
> L sdRmeAdaw
fa=T aug aam?
[

(@) 16 days

(JREXEVE (d) 10 days
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v = SxI
Q. 13) A part of a journey is covered in 37.5
/375% _37_,;3;_ \81 -~ minutes at 90 km/hr and the remaining part in
PN ” 14 minutes at 80 km/hr. The total distance (in
=X y 3 km) of the journey is: &t g & ' YT B
rT 90 km/hr &I TTd | 37.5 e ¥ R AW YT

S6
TK"E{ S 4 ﬁaorkm/hraﬁarajmfh'-lzﬁauﬁmm
\_) -9 B UEAT S FA G (km H) I BIfQ
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Q. 15 If (x + %) = 10, what is the value of
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N p— %
@ +b) — &KX H+b + 2=atb T~
sin* 6+cos* 0
. 2 Q. 17) 1-Dsin? Bcost O
(SM’) @+ Cos®) =
S '"YL.ZCD +C9—32©+ 2 SO (05 (b) 2 |
2 (c) 1 Smlot (05702 1-3Sinfotaito
(517726) + C032C9>
- (do |
= S$MH®+®§1® ‘f'o‘{gl"ne@@')’@ ) —25™ QM’Z(Q
— >

g(nH@JrCssg‘@‘; - Ynfolobe
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J3 3 | #3¢ Q. 18) A person standing at a distance looks at

a building having a height of 1000 metres. The
angle between the top of the building and the
ground is 30°. At what approximate distance
R (in metres) is the person standing away from
| 000 | the building.

fad 1000 Ht 1 SIS a1 SART
g%@l%%ﬁﬁ%%ﬁam

‘ o
— ﬁm%i%m?mﬁmmgﬁ

(a) 1000 (b) 936

D 00% I y22 m (d) 1542

|33 =
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Q. 19) In the given figure, if AD 1L BC,AC = 26
units, CD = 10 units, BC = 42 units, ZDAC = x

6 5

+

and 2B =y then the value of
COSX COSYy

8tan y is:

&l 3 3TPpfd # afe AD L BC, AC = 26 §®T3, CD
— 10 SPIS, BC = 42 THIS, ,DAC = x 3 /B =

Y%.'c'ﬁ : . +8tany3'ﬂﬂﬂ%—

COS X COsYy

(a) 16/9 units (b) 13/6 units
(c) 25/4 units COREVIRTIIS
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Q. 20) Which of the following statements is
INCORRECT?

fAafafEa & @ S19-91 $YF Tad 2

) Radi is th |  § hord f
R R et chordof @

_{b) The ratio of circumference of two circles is

ual to the ratio of their radii./al qﬁ’f |
lel%!ﬂ] D1 AFUId I A & U &
aRTER BT ¢ |
(4¢) The perpendicular drawn from the center
of the circle on the chord of the circle bisects

the chord./dd @1 Silal IR g0 & &g A @idl
T &4, SitaT & GHfgHTod A g |
((eh) Cirdes are congruent to each other if the
have equal radii,/g« U® %wﬁmsﬁ%
gfe 39! Asare Ja= 8|
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Q. 21) A sector of a circle of radius 10 cm is
formed at 60° angle at the centre. What will be
its area (take r = 3.14)?
10 ¥ B & v g9 &1 s Fg W 60°
314K 100 x5 SV WX 7T 21 SHBT &ABd T NN (7 =
3666 | 3.14 A1Y)

(b) 75.28 cm?
(c) 60.67 cm?*
(d) 55.00 cm?

Sactor (A) > (7%
360
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Dona-
tion
35%

Source of funds in school

—

Mainten- %’ﬁ

ance
30%

School O?Q 7\-%90-0

S20
=Y

33% T :H’ : 2?/-

L ses of funds by school

a) 74.29%

Q. 24) Study the given pie-chart carefully and
answer the following question.

feu U U Id®r W We AWy B R
mrfgr%'a WY BT IR GHorg |

The entire fund that school gets from different
sources is equal to Rs. 10 lakh

a s i A A TR s B 10 @ &
SRTER B

If scholarship has to be paid out of the donation
fund, then what is the percentage of donation fund
used for this purpose (rounded off to two decimal
places)?

gfe BrEgfy &1 YaE o s | fear 91 8, at 39
@m%ﬁg:ﬂu‘mmnﬂm%mm
AT P gl R d& Quiiterd) fea-n 82

(b) 72.15%

(c) 80.25% (d) 75.25%
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Q. 25) The following table shows the scores of
eore 1 e | three attempts of Archery players in a

S el tournament. The player scoring the highest
‘ oy average score was declared the best player.

fg{;o was the best pla[!eelé . >
& o uum’fgwﬁv &I guITdl 8| I=aH Hd

R $31 a1 ([ ot 949y fFars! gifta
ﬁfmwmﬁ&gmﬁqi‘?

(a) Angela / Toidl Maria/ AT

(c) Deepika / SITU®T




